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MATH 140
DR. MCLOUGHLIN’S CLASS
STATISTICAL FORMULAE FOR TEST 2

Let D = {Xy, Xz, X3, ..., Xp} be a finite data set from a population of interest and
C={Y1 Yz Y3, ..., Y.} be afinite data set from a population of interest.

The population parameters for X are the mean, p,, the standard deviation, o, , etc. ; the
population parameters for Y are the mean, p, , the standard deviation, o, , etc.; and, the
population (Pearson product-moment) correlation is py.
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The Binomial variate is the number of successes in n-independent Bernoulli trials where the
probability of success at each trial is p. The parameters are p and n (the number of trials).
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p=np
p2' =np(np + (1 -p))

wa' =np((n-1)(n-2)p° + 3p(n - 1) + 1)
o”=np(1-p)
na=np(l-p)((1-p)-p)

ra=np((1 +3p(1-p)(n - 2))



